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Experimental Exp. SM
Observable LHCDH CDF HFVG QCDF
B(B. — 7 )[x1079] 0.957021 +0.13 0.57 +0.15+0.10.73 £ 0.14] o155 |
B(Bs — K*OK*0)[x107%) 28.1 £ 4.6 + 4.5 + 3.4(fs/f4)) — 8.1+ 7.9 [f.or04xi |
f1L(By = K*K*0)[x1072] 31+12+4 — 31+13 7270708
fL(By — K*OK*0)[x1072] 38+ 1144 — — —
B(B, — 0¢)[x1079] — 23.24+ 1.8 +82 [HOEESN 19.57 0 "
fL(Bs — 66)[x1072] 36.5+£2.2+1.2 348+ 41421 361 +22 4870720
f1(Bs — 00)[x1077] 20.1 +2.44 1.0 36.5 + 4.4 4+ 2.7 30.6 & 2.3 —
fi(Bs = 00)[x1077] 344424414 28.7+43+1.1 — —
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Experimental SM
Observable old data current data data
o4 [rad] 0.73+0.14  —0.001+0.17+0.06  —0.036375-01¢
Amg[ps™!] 17.42 +2.40 17.63 =0.11 173 £2.6

B(B; — 7~ K")[x1079] 23.1+1.0 23.80 £0.74 20.3
B(B; — 7"K~)[x1079] 129 +0.6 12.94 +£0.51 11.7
B(BY — 7 K~)[x107F] 19.4+0.6 19.55 £ 0.53 18.4
B(BY — 10 K%)[x1079] 9.8 = 0.6 9.92 + 0.48 8.0
B(B; — oK ~)[x107F] — 8.8+ 0.5 11.6
B(BY — 6K )[x1079] — 7.3+£06 10.5
AEL(By — 77 K)[x1077] 0.9+25 —1.5£1.2 0.3

ALT (B — 7K ~)[x107?] 50425 4.0+ 2.1 —3.6
AZT(BY — n T K™)[x1072 —9.871 7 ~8.6+£0.7 —4.1
A% (BY — 7wV KY)[x1072] —1+£10 —-1+10 0.8
A¥L(By — oK™ )[x1072] — 10.4 + 4.2 0.7
AR (BY — oK) [x107?] — 1+14 0.8

By — B R4 Bua — TK(0K) A3 FE M8
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% e (107°)

Decay Exp. SM Z' model
Mode data Scheme 1 Scheme 11 data
B, — 77~ 0.73+0.14 0.21700 0.4870 11 0.4670 15
By = 7970 — 0.11 =0.03 0.247007 0.2370 0%
By — wtp~ — 0.012Z5 53 0.031 X5 007 0.028~501
B, — ptm~ — 0.015 = 0.004 0.03170 000 0.0287 5014
By — 700 — 0.013 % 0.004 0.03170 505 0.0287 0015
B, — ptp — D—legétl] 1.5=x0.3 1.4+=0.4
Boo g — 0.2179%8 0.737915 0.697515
B, - wp' — 0.003653%9% 0.00270%%% 0.022
By — ww - 0.16 + 0.04 0.5570 1] 0.527013
By — K*tK*= - 7750 15.075% 14.5755
B, — KYK* 281+6.5 8.157% 15.7547 1495
By — ¢p° - 0.56 = 0.12 0.557 01 24704
Bs = wo — 0.0307 0o% 0.03370 008 0.8870 27
B. — 00 19+5  255715(16.8791) 647715 ;;(44 4+f3 1) 61.27%04 (42,8780

55 WM R TEIR R 1 AN B2 AL 5 AN [

P. Ball et al., 2004 (M. Beneke et al., 2006) .
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CPak3r (1074 )

Decay Exp. SM Z'" model
Mode data Scheme 1 Scheme 11 data
B, - ™ — 0 0 0
Bs — 77! — 0 0 0
By — 1 p~ — —19.3f§:§ 0 0
By —ptn™ — 15.8751 0 0
By — 79pY — 0 0 0
B, — pTp~ — 0 0 0
B — p'p“ — 0 0 0
B, — wp’ — 0 0 0
By — ww — 0 0 0
By — K*TK*~ — 2407375 19.3737 16.9717)
By — KOK* — 1.0793 0.65 = 0.12 3.0757
By — op! - 21.1 £2.8 21475 0.2727
T 330719 16775,
B, o0  — 11£02(L15535) 0.66155(0.615075) —1.05533(-0.92755)
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Decay Exp. SM Z'" model
Mode data Scheme 1 Scheme 11 data
B, — p+ p~ — 98.70 = 0.04 97.76 = 0.01 97.76 =+ 0.02
By — p' ,o — 98.697 03 97.75 4+ 0.01 97.75 4+ 0.01
By — wp? — 98.66 + 0.03 97.71 + 0.02 97.71 + 0.02
Be — ww — 98.647 0 97.66 = 0.02 97.66 £ 0.02
By — K*TK* — 67.07)7 65.0°07 65.97%3
By — KK 31+13 69.17%0, 70.3725 70.1753
By — op’ - 91.37%7 91.873% 92.1739
B, — wo — 79.2755% 865757 96.8 500
B, — 00 36.1£22 51.47157(44.57302) 64.3733(60.871%%) 64.1729(60.675%%)

6.5
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— QO

30.6 £2.3 22.9790(26.475,,) 16.875 "(18 4“ )

Decay Exp. SM Z'" model
Mode data Scheme 1 Scheme 11 data
By — pTp~ — 0.20 £0.01 1.26 =0.01 1.26 = 0.01
Bs — p“,o“ — 0.20 £0.01 1.27 =0.01 1.27 = 0.01
B, — wp! — 0.21 +£0.01 1.29 +0.01 1.29 =0.01
By — ww — 0.21 =0.01 1.32 =0.01 1.32 =0.01
B, — K*TK*~ — 14577 15.275 14.875%
By — KK 38+12 13.57% " 12,7757 12.875%
By — op” — 4. 5+} ‘; 43719 s 3.9719
Bs = wo — 11.072%° 71752 15755
B,

16.9731(18.5733)
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B(By — ptK*7) = (10.3£2.6) x 107°,

AC-‘P(Bd — [)+[{*_) = 0.21 £ 015
fr(By— pTK*™) =0.38+0.13.
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